

$$\frac{\partial \tilde{E}}{\partial \mu_j} = \sum_i \gamma_j(w_i) \frac{(\mu_j - w_i)}{\sigma_j^2} \quad \dots (5.142) \quad \text{Σ} \text{f} \text{c} \text{g} \text{z}$$

∴ τ^4

$$\tilde{E} = E + \lambda \Omega \quad \dots (5.139)$$

$$\Omega = - \sum_i \ln \left(\sum_j \pi_j N(w_i | \mu_j, \sigma_j^2) \right) \quad \dots (5.138)$$

$$N(w_i | \mu_j, \sigma_j^2) = \frac{1}{\sqrt{2\pi}\sigma_j} \exp\left\{-\frac{1}{2\sigma_j^2}(w_i - \mu_j)^2\right\} \quad \dots \text{か} \text{u} \text{r} \text{a} \text{f} \text{a} \text{p}$$

$$\begin{aligned} \frac{\partial N}{\partial \mu_j} &= \frac{1}{\sqrt{2\pi}\sigma_j} \cdot \frac{-1}{2\sigma_j^2} \cdot 2(w_i - \mu_j)(-1) \exp\left\{-\frac{1}{2\sigma_j^2}(w_i - \mu_j)^2\right\} \\ &= \frac{w_i - \mu_j}{\sigma_j^2} N(w_i | \mu_j, \sigma_j^2) \quad \dots \text{か} \text{u} \text{r} \text{a} \text{f} \text{a} \text{p} \quad \Sigma \mu_j \text{z} \text{微} \text{b} \text{p} \end{aligned}$$

$\tau \text{f} \text{a} \tau^4$

$$\frac{\partial \Omega}{\partial \mu_j} = - \sum_i \frac{\frac{w_i - \mu_j}{\sigma_j^2} \pi_j N(w_i | \mu_j, \sigma_j^2)}{\sum_k \pi_k N(w_i | \mu_k, \sigma_k^2)}$$

∴ τ^4

$$\gamma_j(w) = \frac{\pi_j N(w | \mu_j, \sigma_j^2)}{\sum_k \pi_k N(w | \mu_k, \sigma_k^2)} \quad \dots (5.140)$$

$\tau \text{a} \tau^4$

$$\frac{\partial \Omega}{\partial \mu_j} = - \sum_i \gamma_j(w_i) \frac{w_i - \mu_j}{\sigma_j^2} = \sum_i \gamma_j(w_i) \frac{\mu_j - w_i}{\sigma_j^2}$$

$$\text{又} \quad \frac{\partial E}{\partial \mu_j} = 0 \quad \tau \text{a} \tau^4$$

$$\frac{\partial \tilde{E}}{\partial \mu_j} = \lambda \sum_i \gamma_j(w_i) \frac{\mu_j - w_i}{\sigma_j^2} \quad \dots (5.142)$$

Σ得子。